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�ก�&���/)�$&�  �*-5�'�ก�&������
�ก�&��
�/)�$&��&/�(�$��&/�	%*������=�	%*����+�#�:&R_8�/)�$&�	)��
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���������-� &�ก�%�* ()���=�����53���#�������%������	;�$�ก  &��&/�(������$�ก�
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6.2.3 ����	��
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5����*#(&-�
&/���/6 �53�����#� Linear Programming 5�ก�
*#��
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#$�Rก�
53�

���� ��	�� 
���/)�$&� #�5��
�ก�&���/)�$&�����)�5'�	$ก�
��m�'$�- (Objective Value) 5������/
'$�-7�� �%�ก�
ก�&����9/���������
�ก�&��5'�6 �	;�	�  
*$7���%�$�
8(#�&� (Marginal Value) ���
*&�7� #����$��
#$�R()�ก&  '�ก7;ก� '-%��6� 1 '�%*- '
9� �!#�$ 1 '�%*-
��**&�7� #�����!#�$��/�
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77;ก�)�6�53�6 ��-%����̂$���� -6$%�# �& ������()�ก& �9��] 
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ก�&����9/���������
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�/)�$&�(�6 �
&��&/������-�
���6���%�6
 
�%6$%6 �*#��
��'8�*�$�%��6'* (Sensitivity Analysis) 
	)�'
&����()�ก& �9����ก�'�9�(�ก�
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��ก
R�������()�ก& �%��] ���$��&/�
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�
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�
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ก��df'�6 �$�ก 
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�ก�&���/)�$&��!�-�
�-%��� �-* 
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7�)�6�53��
��-3�8�9��6 ���ก � -�>!���-%��-#��5�
���	�'ก

$�,��
��$����53����� ��	���=�*&�7� #�'�&ก  &��&/��*
$�ก�
��ก����
�-����-�ก�
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���� ��	�
�'*%��53�5��
�ก�&���/)�$&�ก&��
��,��
��$�*%�$;��%�	%*��!#�$ (Value Added) ���
ก�
53����� �� ��	����5 $�$�กก*%�ก&�  �*-��=��
�� ̂�����%�	�5( �!
������ ��	���=�
�
&!-�ก
���$�()�ก&  (���*
53�5'��ก# �
��-3�8	;�	� ก&��
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